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PAPER II
HISTORY

Note : This paper contains hundred (100) objective type questions of two (2) marks each.
All questions are compulsory.

1. Which of the following works were authored by A.S. Altekar ?
(i)  State and Government in Ancient India
(i1) Early History of the Deccan
(i1i) Coinage of the Gupta Empire
(iv) The Rashtrakutas and their Times
Choose the correct answer from the code given below :

Code:
(1) (1), (ii) and (iii) (2) (b, (iid) and (iv)
(3) (1), (iil) and (iv) (4) (@), (i) and (iv)
2. Match List I with List IT and choose the correct answer from the code given below.
List I List I1
(Palaeolithic Site) (Location)
(a) Adamgarh (i)  Andhra Pradesh
(b) Chittoor (ii)) Karnataka
(¢) Isampur (iii) Madhya Pradesh
(d) Palghat (iv) Kerala
Code :
(a) (b) (c) (d)
(1) Gi) (1) (iii) (iv)
(2)  (iv) (iii) (i) (i1)
(3) (iii) (1) (ii) (iv)

(4) (i) (i) (i) (iv)
3. Which of the following are wrongly matched ?

(Archaeological sites) (Importance)

(i) Bhagwanpura —  Large number of terracotta figures
(200 B.C. - 300 A.D.)

(ii)) Chandraketugarh —  Opverlap of Late Harappan and Painted grey
ware cultures

(iii) Bagor —  Mesolithic culture

(iv) Kodumanal —  Megalithic culture

Code:

(1) (i) and (ii) (2) (1) and (ii1)

(3) (iii) and (iv) (4) (@) and (iv)
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Te-ua 11

gfoerE
351 38 397-97 4 @1(100) Fg-135cH17 597 & | I J97 % §1(2) 3% & | @¥] Jo7 Hi4ard & |

1. frefafea & @ S geah T e, stedet g foeh 7w off 2
(i) &2 T8 7a7qe F7 gue e
(i) o7cT feedt 37 g ST
(il) a7 371% § Tl TR
(iv) & IgPH TS G 5H

=t feu MU e § | T W H AT
e :
(1) @), (i) 3 (iii) (2) (i), (iii) 3R (iv)
(3) (i), (iii) 3R (iv) (4) (i), (ii) 3 (iv)
2. IS @ ghfad hife ot f= fow 7 g # @ @@ 3w = g
il T I
(TO-SERGA et (Fam)
(a) 3T () Y Jem
(b) (ii) At
(¢) 3EME (iii) A& e
(d) dYrerEme (iv)
<< :
(a) (b) (c) (d)
(1) @i (1) (iii) (iv)
(2) (@v) (iii) (1) (ii)
(3) Gi) (@) (ii) (iv)

(4) (iii) (ii) (i) (iv)
3. frfafea & @ -8 7o guferd & ?

(RTeTeereR wore) (WE)
(1) wEmga — qufaa s TfYe F&AT (200 391 98 - 300°%.)
(i) FgehgTe — I g wd I e I SEhfl s TR S
(ili) smIR —  HEUTI HEphd
(iv) g — T HE
e
(1) (i) 3R (i) (2) (i) 3R (iid)

(3) (iii) 3 (iv) (4) (1) (iv)
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10.

11.

12.

The common element of Harappan and Sumerian civilizations is
(1) Grain-storage system (2) Planning of houses
(3) Drawing of bullocks (4) Drainage system

To which of the following tribes did King Sudasa, mentioned in the Rigveda as
having defeated ten kings, belong ?

(1) Anu (2)  Druhyu (3) Yadu (4) Tritsu

Many Vedic sacrifices were performed on Darsa. Which day does it signify ?
(1) Full moon day

(2) New moon day

(3) Eighth day of the bright fortnight

(4) Eight day of the dark fortnight

Which one of the following pairs of Vedic names represents the months of Chaitra
and Vaisakha ?

(1) Madhu - Madhava (2) Nabhas — Nabhasya
(3) Sukra — Suchi (4) Tapas — Tapasya

Which of the following is not one of the Vedic Shadangas ?
(1) Siksha (2) Vyakarana
(3) Nirukta (4) Yoga

According to which Buddhist text, do the symbols on the coins indicate the place of
manufacture and the name of the manufacturer of different coins ?

(1) Dhatukatha (2) Samantapasadika
(3) Suttavibhanga (4) Visuddhimagga

Which of the following was not one of the Mahajanapadas of 6th century B.C. ?
(1) Vajji (2) Anga (3) Mulaka (4) Assaka
Peace and order in the Mauryan society was highlighted by

(1) Absence of locking

(2) Heavy locking

(3)  Occasional dacoity

(4) Stray occurrence of theft

Who, among the following officers, is not mentioned in the inscriptions of Asoka ?

(1) Ayukta (2) Rajuka
(3) Pradesika (4) Duta
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10.

11.

12.

FSWT 9 GHIEE "wrar § 99 3
(1) 3TF-YUSK oIt (2) ITEE-FSH
(8) - (4) - s

Fiog ¥ 3feailad, gd TSN &I wUa o dra e ged, Fefafga & @ fohm Sanfa @
qref-yd o ?

(1) 39 (2) ™ (3) =g 4) Py
e Jfceh I 1 TraTed <3 § Bian of | 399 foe fo o ared B 2
(1) o = fg

(2) mEEn &1 fa
(3) I Ut hl TeHT
(4) % 9& h1 ITeeH

Afeer i 1 F=fafad § @ HH-A1 I <F U9 I9TE W18 S AW I ST BT 8 ?

(1) ¥Y-#eg (2) HH - 999
(3) I -« (4) qUE - I
Fr=ffiga 4 9 m-m afcs e o0 757 2 2

(1) foem (2) T
(8) = (4) Im

form g U9 & AR, fierenl W sifha fog fafie Rl & Fmfu-caa v fmfar & T@ &
Hehd L & ?

(1) rgehe (2) THYTETCH
(3) gt (4) fagfgmm
frfefea & @ SH-81 St waTed! 381 qd % HgeHIGl § § Tg7 ot ?
(1) afss (2) (3) T (4) oTHH
T ATl § Wifd 3R sTe%T &l Scdl@-1g awd o

(1) et & e

(2) YT drAsal

(3) wft-heft skt

(4) Sfi-par =0

frafafaa 9§ 9 FH-8 Al =1 Icorg 3w & IfcEl § 787 8 2
(1) AIh (2) W

(3) TR (4) @

3-o0618 IINIMMIANNINNURBAN AR 5 Paper I



13. Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R). Read the statements and choose the correct answer using the
code given below.

Assertion (A) : Several hundred Roman coins have been found from Karur, the
ancient capital of the Chera rulers.

Reason (R) : Early Tamil literature speaks of the flourishing Indo-Roman trade.
Code:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

14.  Which of the following shows the correct chronological order in which the kings
ascended the throne ?

(1) Maues, Kanishka, Gondophernes

(2) Chashtana, Rudradaman, Rudrasena I

(3) Pulakesin II, Vikramaditya I, Vinayaditya
(4) Rajaraja I, Kulothunga I, Vira Rajendra

15.  According to the epigraphic sources, which of the following kings were accomplished
musicians ?

(i) Gautamiputra Satakarni

(ii)) Pushyamitra Sunga

(iii) Kharavela

(iv) Samudragupta

Choose the correct answer from the code given below :

Code :
(1) (1) and (ii) (2) (i1) and (iv)
(3) (ii) and (iv) (4) (1), (ii1) and (iv)

16. Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R). Read the statements and choose the correct answer using the
code given below.

Assertion (A) : Gautamiputra Satakarni performed the asvamedha sacrifice.

Reason (R):  He obtained victory over Nahapana of the Kshaharata family.
Code:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.
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13. = @ o fou mu F, o | uw afieem (A) ot gE @ (R) B | el o ufen ofit i
fau T e 1 T W IW AT |
STVHYT (A) :  HECY, S =/ TS shl YA T @ 8, U0 & denel foes fied & |

7% (R) : qHRIE Al AfeeT A fee-UM SATIR 1 v T 2 |

e :

(1) (A) 3 (R) gHT @&l & 9 (R), (A) T &t == 2 |

(2) (A) 3R (R) qH T8 2, g (R), (A) i T = 74 7 |

(3) (A)EA 7, 7g (R) Tod 2 |

(4) (A)7Ted 8, Wq (R) && 2 |

14. fr=fafea & & wF-a1 T & fagmAmEg 89 &1 T8l Sl 3T T § ?
(1) HISH, HiIsh, MErBHE
(2) %A, wEEWH, TEH 1
(3) YR 11, feshieed I, farrenfeea
(4) TR I, gt I, IR Terg

15. 3ffirifgs @i & ogur, fefafed & & $H-8 R fagee dfiasr 9 2
(i)  TiaHgE |raehiol
(i) g g
(iii) ErEA
(iv) HH
= fou U e ¥ | wE W A g
<< :
(1) () 3R (i) (2) (i) 3R (iv)
(3) (iii) 3 (iv) (4) (i), (dii) 3 (iv)

16. = 31 %o fou mu E, fH & s ifirkem (A) R ST o @k (R) ® | e w1 ufgn it
f2U Qe 1 TN T EE I AT |
37T (A) :  TaHIgA |Iaehol § 3TvaHe I3 foha |

7% (R) : 3T T80 I o AguToT R foe ureq < off |

e :

(1) (A) IR (R)qH @&l & 741 (R), (A) ! €&l =ren @ |

(2) (A) 3R (R) gHI T&t &, 7g (R), (A) I T = 7 2 |

(3) (A)E& 2, 7g (R) a2 |

(4) (A)7Ted 8, T (R) 9&1 2 |
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17.  Who, among the following, translated the work, Periplus of the Erythraean Sea ?
(1) Watters (2) Giles (3)  Yule (4) Schoff

18. The famous port wherefrom ships sailed to south-east Asian countries during the
Gupta period was which of the following ?

(1) Bhrigukachchha (2) Kaveripattan
(3) Khambat (4) Tamralipti

19.  Which of the following statements is not true about Prabhavatigupta ?
(1) She was the daughter of Chandragupta II and Kuberanaga.
(2) She was the Queen of Rudrasena II and the mother of Pravarasena.
(83) She issued the Poona plates.
(4) She mentions that she was born in the Vishnuvriddha-gotra.

20.  Which Indian name did Hiuen Tsang receive at Nalanda ?
(1) Dharmarakshita (2) Mokshadeva
(3) Prajnadeva (4) Sakyamitra

21.  Which of the following is not true of the Kailasanatha temple at Kanchipuram ?
(1) It was built during the time of Rajasimha.
(2) It has Nandi-mandapa.
(3) Somaskanda figures are absent.
(4) The vimana is more developed than that of the Shore temple.

22,  Arrange the following ancient Indian scientists in the chronological order :

(i) Aryabhata (ii)) Brahmagupta
(iii) Mahavira (iv) Sridhara
Choose the correct answer from the code given below :
Code:

(O @), (i), (id), Gv) (2)  (v), (), (i), (iii)
(3) (), (iid), (@), (iv) 4) @), (i), (v), (iii)

23.  Who among the following queen(s) issued coins ?

(i) Prabhavatigupta (ii) Didda

(iii) Somaladevi (iv) Sugandhadevi
Choose the correct answer from the code given below :

Code:

(1) (@) only (2) (1) only

(3) (1), (il) and (iii) (4) (D), (iid) and (iv)
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17.

18.

19.

20.

21.

22,

23.

ffciRad o & fore Wiy o § Qg & Tieh 1 STIATG fohal ?
(1) ared (2) TEeH (3) I (4) B

7 WiHg SeUTE, SRl ¥ T g1 § e &o-gell TRemg e o foe @ g 9, Fefate
o @ i o ?

(1) qIH=s (2) wHEAUTE

(3) @ (4) amfara

guTediTe < fove # fefafaa § @ w-a1 awea 9t 787 2 ?
(1) =% ST T wa Fawamm 6t = off |

(2) 98 %gaq gt it Tt v yerem i A off |

(3) 3T AT ATHUAT <l aferd oA e |

(4) I8 3oi@ LA @ Toh IR 70 T 77 | gaT o |

JACHTT hl ITeA=al § hIH-9T YR 9 Yeq foran mam o ?
(1) owefera (2) meea
(3) wHCE (4) et

HIGH b Herere 7 & fowg § Fefefed 8 @ wF-a1 s wdt 787 8 2
(1) TR % T § 3okt FHfor gam o |

(2) o TEi-Hed 7 |

(3) wHEh=< i qfdat srgufeerd 8 |

(4) q Afgx At o & sHRT /3777 31fieh fowhfa B |

Freafafea g Tt Isrfrent o S § safera fif

(i) e (i) eI

(iii) wEER (iv) sfer

= fou MU e § | T IW H AT

E T

(D) @G, (i), (i), (v) (2) (@v), (), (iD), (iii)
(8) (D), (id), (1), (iv) 4) @), (D), (iv), (iii)
Tafafaa 9 9 fra/fera it 3 fas =« 2

(i) T (i) femr

(iii) HHee (iv) grearedt

= fou U e ¥ | wE I A g

<< :

(1) had (i) (2) had (ii)

(3) (1), (i) 3N (iii) (4) (i), (iii) 37 (iv)
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24.

25.

26.

217.

28.

Who was the ruler of Varendri at the time of Kaivarta revolt ?
(1) Mahendrapala

(2) Mahipala II

(3) Narayanapala

(4) Ramapala

Which of the following is not true of the Shore temple complex ?
(1) It islocated at Mahabalipuram.

(2) It was built during the reign of Mahendravarman I.

(3) Itis called Trimurti temple.

(4) It has Saiva and Vaishnava affiliations.

Who among the following Chola rulers started the practice of prefixing the historical
introduction to his inscriptions ?

(1) Sundara Chola
(2) Uttama Chola

(3) Rajaraja Chola
(4) Rajendra Chola

Arrange the following works in the chronological order :
(i) Nandikkalambakam

(i) Kalingattuparani

(iii) Mattavilasaprahasana

(iv) Periyapuranam

Choose the correct answer from the code given below :
Code :

(1) (i), (), (i), (iv)

(2) (), (i), (v), (iii)

(3) @), (Av), (id), @)

4) (D, (iid), Gv), (i1)

Among the following kings, three were contemporaries. Who was not a
contemporary of the other three ?

(1) Kulottunga I

(2) Anantavarman Chodaganga
(3) Vikramaditya VI

(4) TailaII
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24. Had fugie & T IR T ATHD HiF AT ?
(1) weza
(2) wEE 11
(3) FREUETA
(4) THITA

25. N Hi T & fawa o ffafaa § @ -1 wum wdl 787 7 2
(1) I8 weEfaqe] | f&ed 2 |
(2) 3EHT FHHIT HergaE [ % SMEA o G H g3 o |
(3) ug ld #i=T g1 S 2 |
(4) 394 Q9 TF I Tl & |
26. frfafes & @ forg =i a9 3 R sifiei@l & oy # Ufteifass fieRt Sed it gen
=TS ?
(1) =
(2) IO =
(3) TS =
(4) Tog A

27. fAfafad gEael S HeHA § afeed Hif
G)  TGFHTETRT
(i)  HlerrgeRior
(iii) FITEIEGT
(v) RO
= fou U e ¥ | wE IH A g
<< :
(1) (ii), (@), (i), (Qv)
(2) (@), (i) (v), (iii)
(3) (i), (iv), (iid), (1)
(4) (@), (iii), (Qv), (ii)
28. fr=feifga Temeti § @ i guestefia & | 98 ST S o1 I $H @ HT GHBRAA Fg7 o1 ?
(1) Pargn]
(2) AU AT
(3) faspmic VI
(4) dalI
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29. Match List I with List IT and choose the correct answer from the code given below :
List I List I1
(Monument) (Place)
(a) Chaitya ) Chittor
(b) Kirti Stambha (ii)) Karla
(c) Lakshmana temple (iii) Khajuraho
(d) Stupa (iv) Sanchi
Code:
(a) (b) (c) (d)
1 @ (iii) (iv) (ii)
(2) (i) (i) (iii) (iv)
3) (Gv) (1) (iii) (ii)
(4) (i) (iii) (i) (iv)
30. Beside Kalidas, other Sanskrit poet(s) and author(s) mentioned in the inscriptions
is/are the following :
(i) Bharavi
(ii)) Kubja
(iii) Magha
(iv) Visakhadatta
Choose the correct answer from the code given below :
Code :
(1) (@) only (2) (1) and (i)
(3) (1), (i1) and (iii) (4) (i), (i) and (iv)
31.  Which of the following statements are true of Vira Saivism ?
(i) It was very popular in Karnataka.
(i) It was founded by Basava.
(iii) It rejected the authority of the Vedas.
(iv) It allowed the practice of caste-distinction.
Choose the correct answer from the code given below :
Code:
(1) (), (id), (iii) and (iv)
(2) (D), (i1) and (iii)
(3) (i), (ii1) and (iv)
(4) (1), (i1) and (iv)
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29. T 19 g 119 g Hifw siv 19 fow o e i F wE A 9R

30.

31.
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el =i 11

(TRR) (zam)
(a) = G fosre
(b) hifd Taww (i)
(c) weEnw ufeex (iii) @R
(d) & (iv) @@=

E T

(@  (b) (c) (d)
1 @ (iii) (iv) (i)
2) G @) (i) (v)
(3) Gv) @) (i) (i)
(4) Gi) (il 6)) (iv)
HifcreE & Afafs, Fefafed & @ fra/fer o dwpa wfa /A1 qon oraew/at &1 sifierat §
3T g3 B ?
(i) wnfa
(i) e
(iii) #m=
(iv) faemeea
= o e e § @ s w ghw
E T
(1) (i) (2)
(3) (i), (ii) 3N (iii) (4)

IR 39 ot & fawg # fFafafegd @ @ w99 aFca gt 8 ?
(i) I8 Hleeh H 9gd AR o |

(i) w9a = Eh! T AT off |

(iii) 394 9 JTHUT i STEThR L feam o |

(iv) 39 fd-Hg <hl et sl = e |

= feu 7T e § @ HE W AT
E T

(1) @), (i), (i) 3R (iv)

(2) (), (i) 3R §ii)

(3) (i), (iii) 3 (iv)

4) (), (ii) 3R (iv)

(i) 3 (ii)
(ii), (iii) 3 (iv)
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32.

33.

34.

35.

36.

According to the Kuvalayamala, the Bhattarka of Mulasthana had become known as
a place where lepers got cured of their disease. Temple of which god is indicated
here ?

(1) Brahma (2) Siva
(3) Surya (4) Vishnu

Prambanan and Panataran groups of temples, where Ramayan scenes are found, are
situated in

(1) Java (2) Kambuj (3) Siam (4) Pagan

Chronologically arrange the following events of Sultan Iltutmish’s period :
(i) Deed of investiture for Iltutmish

(i1) Conquest of Ranthambore

(i1i) Conquest of Gwalior

(iv) Conquest of Kalinjar

Choose the correct answer from the code given below :
Code:

(1) Gv), (i), (), (iii)

(2) (@), Gii), (iv), (i1)

(3) (i), (), (ii), (iv)

(4) (iid), (v), (i1), ()

Which of the following works of Amir Khusrau contains the account of the
campaigns of Alauddin Khalji in the Deccan and the Mongol inroads ?

(1) Khazain-ul Futuh

(2) Nuh Sipihr

(3) Qiran-us Sadain

(4) Dawal Rani Khizr Khani

“The city of Delhi is made up now of four ... towns. The fourth is called Jahanpanah
... [Its founder’s] intention [was] to unite these four towns within a single wall, but
after building part of it he gave up ...”

In the above statement, Ibn Battuta is referring to the building activities of which of
the following Sultans ?

(1) Alauddin Khalji

(2) Ghiyasuddin Tughlaq
(3) Muhammad bin Tughlaq
(4) Firuz Shah Tughlaq
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32.

33.

34.

35.

36.

FIATHTAT & IFTAN GO h Wegleh T TIM % &9 § yfig & 730 o1 Sl $56 Wh 319
T & o o | T& ford 2aar o wfet i Hehd B 2

(1) w&m (2) T

3) = (4) fos

T TF THaH a1 o Hieey, T8 THRIO % 99 9o B &, hal 1e9d & ?

(1) Sren (2) S 3) @M (4) wH

odH SoqarHel o hId i FHHEAREd Je13T ol ShITshd § afedrd i :
(i)  3oqarsT ol GaTwl gRI Jed Hith AR o
(i) TOIHR i fosm

(iii) vaTfoRR & fosm

(iv) hifctor <6t foom

= fou MU e § | T IW H AT

e :

(1) @Gw), (1), (1), (iii)

(2) (), (i), (iv), (ii)

(3) (@), (1), (i), (iv)

(4) (ii), (Qv), (i), (3)

s g 1 Ffafad § @ form geas # STAREN WarSt o gk 3T WA STBRATI 1
gy fifed B 2

(1)  GIrRHA-3T %8

(2) F& 1a9eT

(3) [1HF7-3 T3

(4)  gaer T Rasy @l

“fooett TR IR ... T A AR T B | =T TR TRIOE B ... [3Eh TEAYSR] I 3T
[oft] o 31 =T TR 1 Uk & SR @ Sg foan Sy, feh sqes $© AN & fmiv & o1g &
3G 39T 30 B fear L7

3T ahed H §&T Sqal MHfaRgd ¥ 8 fohd geam i wed fmior wfafaferi == @
2?

(1) IFAR—EE TSt

(2) frEmgeER g

(3) Ygwig foH qirereh

(4) TR v’ g
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37.

38.

39.

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : Barani noted how ‘the kings of Islam’ showed respect to ‘Hindus,
Mongols, polytheists and infidels’ by making them sit on the masnad
and by honouring them in other ways, and how the Hindus upon
paying taxes were allowed to have their temples and celebrations,
employ Muslim servants, and flaunt their title, right in the capital
seats of Muslim rulers.

Reason (R):  An important aspect of Islam in India was its very early acceptance
of a long-term co-existence with Hinduism, despite all the violence
that occurred in military campaigns, conquests and depredations.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

The diagrammatical evidence of capstan to lift heavy weights is mentioned for the
first time in which of the following Persian texts ?

(1) Tarikh-i Firuzshahi of Barani
(2) Tarikh-i Firuzshahi of Afif
(3) Sirat-i Firuzshahi

(4) Miftah-ul Fuzala

Match List I with List IT and choose the correct answer from the code given below :

List I List I
(Persian Term) (Meaning)
(a) Bagqal (1) Fortified village
(b) Mawas (ii) Turban
(c) Khanqgah (iii) Grocer
(d) Dastar (iv) Hospice
Code :

(a) (b) (c) (d)
() Gi) (iii) @) (iv)
(2) G @ (iv) (ii)
3 (ii) (iii) (iv)
(4) (v)  (iD) (ii) (i)
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37. = 3 o fou e & R &t a1k (A) R SR gEU @ (R) @ | oMl i ufen o A=
fau T e 1 T W IW AT |
SfyereT (A) : o foraar 8 T fope TR ‘e o sl 4 Tomg, WA, SgceEndl 3R

FIH hl 7E75 W 81 ST gt alel ¥ A6 g 39T TF W femman
3 fore TR femgatl &1 & o & wvEq o1 Wi TEd o IcHe TEM,
gt Fedl 1 oot a1 § W, 7o fadrel # weeH w i erEfa 4,
Il a Toh i wmaehi 1 THE TSgTE H ot |

7 (R) : IRd H &AM 1 T Ae0l U8 I8 o1 Toh 36+ |9eq AR S0,

e :

(D)
(2)
3)
(4)

fostai 3R qg-re W fe@n & wesg feg o & Wy et we-3tfedcd &
31f =fer =R &R foram o |

(A) 3R (R) TF1 &8 & a1 (R), (A) 1 92 e 2 |
(A) 3R (R) TF1 |8 7, 7q (R), (A) i & =mea &1 2
(A) w8t 8, g (R) TIeTd # |

(A) Ted 8, g (R) W&l # |

38. fTrfafea # @ ford wrEh geas # Wil 999 33 aTefl &d (Capstan) 1 T8t IR 3TTh{d
ST i & ?

(D
(2)
3)
4)

st &t ariE-T faeE?
ThI% h TRIG-T fxtaTame]
TRa-v fatisrems?
1aFaTE-367 BarciT

39. T I g 119 gafad Hifve 3R = for 70 e ¥ & 98t I &1 g

(a)
(b)
(c)
(d)

<< :

(D
(2)
3
4)

Gl = 10

(T vrsgTaret) (arel)

TFHIT (i) fercieg Tia

&g (i) ol

el (iii) uErl

FEIR (iv) gt Toret (emfamra)

(a) (b) (c) (d)
(ii) (iii) (1) (iv)
i) @ (iv) (1)
1) (i1) (iii) (iv)
(iv) (D) (ii) (i)
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40.

41.

42,

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : Muhammad Tughlaq’s Deccan experiment led to the rapid cultural
transformation of the South. From Delhi to Daulatabad it was now
one world. While his armies were moving from Daulatabad to
Multan and from Bengal to Gujarat, mystics, scholars, merchants,
poets and administrators annihilated the distance.

Reason (R) : It was Sultan Muhammad Tughlaq’s desire to achieve the political
and administrative unity of India. He was anxious to liquidate the
barriers — political as well as intellectual — which separated the
North from the South.

Code:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

“People had filled up the Hauz-i Alai so that for a generation there had been no
water in it ... I had it dug out again so that the great reservoir is once more filled
with water year after year.”

The above proclamation regarding the re-digging and cleaning up of Hauz-i Alai was
done by which of the following Sultans ?

(1) Mubarak Khalji

(2) Ghiyasuddin Tughlaq
(3) Muhammad bin Tughlaq
(4) Firuz Shah Tughlaq

Which of the following rulers established translation bureaus ?
(i)  Alauddin Khalji

(i1) Sultan Zain-ul Abidin of Kashmir

(iii) Babur

(iv) Akbar

Choose the correct answer from the code given below :
Code:

(1) (i) and (iv)

(2) (1), (ii) and (iv)

(3) (1) and (iii)

(4) (@v) only
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40. = 3w fou e B R @t e (A) R TR gEU @ (R) @ | oMl i ufen o A=
fau T e 1 T W IW AT |
YT (A) : UG T o caehl TANT § SF0T H dsft | Apides Seatd gaTl | fooett &

SIAATETG d%h 39 I8 T gl ol | I IHh! TN Grdreg § o™ ol 3
AT T & ToIG 6l 3R &g @ off, ghl, fogH, =, Hfa 3R st
SAfeep ot 39 gl &l e ® 9 |

7% (R) : NG <l ToHfdesh 3R TRmafes Tehal i gid T Godd Gewe e 6l

e :

(D
(2)
3)
(4)

afremien off | 98 Terfaes & ary-ay sifiger /el sl @ e & fu s
o, T84 3T 1 gfaror | 7T T T ot |

(A) 3R (R) GHI &8 2 @ (R), (A) 1 921 AT @ |

(A) 3R (R) g1 & 8, Wg (R), (A) I Tl =arean T8 2 |
(A) @&t 8, g (R) T4 2 |

(A) Td 7, g (R) & 2 |

41. ‘T Py RS dm w A asmi su o i @ L. B W
TR G 1ok 98 faeel 8 o |1d-gl-a1d It 8 ees 90 @ 17
gIo-¢ 37eilg <h1 YH: GaTs AR b1 Feielt Iuh Sfth fohe o™ Al B ?
(1) Yo Tersll
(2) FrmgeH g

(3

qeme for qeish

(4) ToUS 3R FIeTh

42, fAfafad el # 9 fohem 31amg <R wonfud foham o 2

i)

AAREH Wttt

(i) TR T God™ vgd MEEH
(iii) TR
(iv) 3R

A9 fon e g @ EE IR A IR -

£
(1)
(2)
3
(4)

(ii) 3T (iv)
(1), (ii) 3R (iv)
(1) 3R (iid)
*Had (iv)
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43.

44.

45.

In relation to Sultan Muhammad Tughlaq’s attitude towards Jain sect, which of the
following statements are correct ?

(i) Muhammad Tughlaq had close contact with Jain scholars, like Rajasekhara
and Jinprabha Suri who enjoyed his patronage.

(i1) The Sultan gave Jinprabha Suri one thousand cows, besides a large number of
other gifts.

(iii) Despite his desire, he did not visit the Satrunjaya temples at Palatina and
temples of Girnar.

(iv) He is also reported to have issued a farman under royal seal for the
construction of a new basati upasraya (a rest-house for monks).

Choose the correct answer from the code given below :
Code :

(1) (@) and (ii)

(2) (i), (ii1) and (iv)
(3) (), (ii) and (iv)
(4) (iii) and (iv)

Which of the following scholar/s has/have argued that Kabir’s compositions evince
much of an attitude of acceptance towards the two great faiths of India ?

(1) Linda Hess

(2) John Stratton Hawley and Mark Juergensmeyer
(3) David Lorenzen

(4) Charlotte Vaudeville and Winand M. Callewaert

Arrange in chronological order the following European travellers who visited India
during Jahangir’s reign :

(i) Thomas Roe

(i1) Joseph Salbancke

(iii) John Jourdain

(iv) Edward Terry

Choose the correct answer from the code given below :

Code :

(1 @), Gv), (i), (iid)
(2) Gib), (id), (1), (iv)
(3)  Gv), (1), (i), (iii)
(4) (D), (iid), (), (i)
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43.

44.

45.

HodH Garae g & o T o Jid sIasR & gefed fmfafed § & -3 oot adt 8 2

(1) Hemg qeTeh & ToRier 3R Sy git S8 39 fagrat @ afiss g9y o =g 35 aew
TTCd o |

(i) Yoearm = N9 g H 31 & AR IR 6 T Th FARX T G |

(iii) 3T TTBT h TEANG, I8 AT oh I HigU 3R TR o wfcdi & 981 51 am |

(iv) Th T8 Fga1 395 (=1 & fou smmg) & fmivr & fu Terehi gat & 919 304 U
g7 off ST feRa |

= fou mu e ¥ | wE I A g
e :

(1) () 3R (i)

(2) (i), (fii) 3 (iv)

(3) (1), (i) 3 (iv)

(4) (iii) 3 (iv)

Frafafea & @ fra/fera fagr/fagri 7 faafaa e @ fop et 1 wfcat wra & < 7eM ot
1 TR o TG Bl The Hidl 8 ?

(1) forerzw

(2) I T el TR HIeh SR

(3) 3fag A=A

(4) AR disfad R oA w. wided

SRR & WMEAHhIA § ARG I HH Ol HEfaRgd U A6 i SIOGHATIER e ieed
IR

(i) omEq

(i) SH® "ET=<h

(i) S FeA

(iv) Teag

= fou 7T e H | wE IW 1 G
<< :

(1) @, (v), (), (id)

(2) (ib), (D), (@), (iv)

3) (iv), (D), (id), (iii)

4) (@), (i), (Gv), (i)
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46.

47.

Which of the following statements are correct about textile workers in the medieval
period ?

(i) Spinning was done by women; however weaving was reserved for men.
(i1) Reeling of silk thread was exclusively reserved for men.

(i1i) In dyeing and bleaching both men and women worked together.

(iv) We get references of both male and female calico printers.

Choose the correct answer from the code given below :

Code :

(1) (@) and (i1)

(2) (ii) and (iii)

(3) (1), (i1) and (iii)

(4) (@), (iii) and (iv)

With regard to Sultan Zain-ul Abidin of Kashmir, which of the following statements
are correct ?

(i) Yodabhatta, a courtier of Sultan Zain-ul Abidin, was not only a great Vedic
scholar, but was also conversant with Persian, and had learned Firdausi’s
Shahnama by heart.

(i1) Yodabhatta wrote a book on music and a play in Kashmiri verse named
Jainaprakasa giving an account of his master’s reign.

(iii) Notthosoma Pandit was another Kashmiri poet who composed a book in
Kashmiri verse called Jainacharita in which he described the life and
achievements of Zain-ul Abidin.

(iv) Bhattavatara, influenced by the Shahnama and other Persian works which he
had studied, composed the Jainavilasa which contained the sayings of the
Sultan.

Choose the correct answer from the code given below :
Code :

(1) (@), (i), (iii) and (iv)

(2) (1), (iii) and (iv)

(3) (i) and (i)

(4) (ii) and (iv)
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46. TR B 9E IUN W I HHR & wey # Fr=fafed § & w8 awmen v E 2
(i) gd hars Afgansti gra i St off; Jafer 918 gowt o forw gufera of |
(i) Toresh gmt St B T (reeling) b geut & forw gefera o |
(iii) TTE (dyeing) 3 feisH (bleaching) 7o 3fi wfgermd gre-ame sid & |
(iv) & ge¥ 3 afgenn S (calico printers) 31 s @ey firerd & |
= feu o e & F T W A g
E
(1) @) 3 (i)

(2) (i) 3R (iii)
(3) (1), (ii) M (iii)
4) (D), (iii) 3T (iv)

47. SR % Gead Ao Nfedy & geiy 7 frfafga womt § @ w98 wd § 2

(i) Yead I AN 1 @, Aewg, Hhael Th TgH dfesh fagm & T2 o, sifug wreh
1 off TR o, 3R TR 1 I7E7@7 38 H3W o |

(i) ewg  Tfid T U e TN U &I IHeh o ITETRIA W F7FH ATHh HIHI
TE A1eeh o |

(iii) TrAEM 9fed TH 3 HYH Bg o1 N g # wl W 6 SeRd Awe e
foreht ford 3o A9 onfarda & Sfaq o Iucfstrn &1 gl foham |

(iv) YeEar 4 @ 7Hid FE7F7 W@ 31 BRE! Q& o U9E B G/9erd hl T 6
ol geam @ fomm fifza €

Fr faw U e & & W IR AT
E T
(1) @), (i), (ii) 3R (iv)

(2) (i), (iii) 3R (iv)
(3) (1) 3 (ii)
(4) (i) 3R [Qv)
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48.  Which of the following statements are correct about the role of wazir and his powers
under Babur ?

(1)
(i)
(iii)

(iv)

Under Babur power of wazir once again revived.
Babur’s wazir Nizamuddin Khalifa was devoted to the sovereign.
Babur called him ‘Pillar of the imperial fortune’.

Nizamuddin played an important role in connection with Humayun’s
succession.

Choose the correct answer from the code given below :
Code:

(D)
(2)
3)
(4)

(1) and (i)

(ii) and (iii)

(1), (i1) and (iii)

(1), (i1), (iii) and (iv)

49.  Which of the following statements is not correct about Sant Ravidas’ Vanis ?

(D)

(2)
3)

(4)

In the Rajasthani corpus of the Vanis of Ravidas, exaggerated importance is
given to Yogic influences.

Callewaert and Friedlander call it a partial Nathization of Ravidas.

Surti shabda yog of Ravidas in the Sikh tradition suggests the similar attitude
of the Sikhs and the Dadupanthis towards the Naths.

In the Sikh tradition the state of Sahaj is attained through namsumiran; in the
Rajasthani tradition it is attained through Surti shabda yog too.

50.  Which of the following statements is not correct ?

(1)

(2)

(3)

(4)

Under Akbar the impetus to learning was tremendous. Men from Persia
thronged to his court to earn their living.

Akbar bestowed the title of Malik-i Shuara upon the best poet of his court. This
honour was conferred on Faizi.

Akbar changed the curriculum in the madrasas which was even appreciated by
the orthodox group of the mullahs.

Abul Fazl translated the Bible into Persian.

51. Which of the following works was the first to use the phrase ‘Maharashtra
Dharma’?

(D
(2)
(3)
4)

Gurucharita of Sarasvati Gangadhara
Nityanandaikya-Dipika of Shivakalyan
Panchopakhyan of Mahalingadasa
Dandaniti of Keshav Pandit

3-o0618 IINIMMIANNINNURBAN AR 24 Paper I



48.

49.

50.

51.

TS o 1A H Foi shi fieht 3 3Th! wfwal o a1 | Fefefiad semi § 9 ®H-8 @87 8 ?
(i) S HAH gk I Wik T a1 TR AT 53 |

(i) ST W1 g9k I9TER Gefiwr s o Jfd IHIer o |

(iii) e 3 3W Tt VW 1 Tard T |

(iv) TR TSANEY § FAmeEH  Ageerqul yffe 37a1 i of |

=t feu MU e § | T W H AT
e :

(1) @) 3 (i)

(2) (i) 3 (iii)

(3) (@), (ii) 3TN (iii)

@) @), (i), (ii) 3 (iv)

oq Waem 61 a7f7 & sr # feafafed § @ wh-a1 awes 98t 787 2 ?
(1) Tem 6t g7 % T dug § A % 99ia i Afiv Tear & W R
(2) hictad TN HreAvet 38 Yag w1 e Trefiter #zd 2 |
(3) ?;q;?;rﬁamwgﬁwahﬁ@ﬁia@ﬁﬁaﬂmﬁ%uﬁwww
|
(4) ToQ Wau § g7 1 ST FHGART H R T i A 7; T WA | T8 geed
a7 % HeAm | off yreq < St 7 |

f=fefad § 9 sia-a1 awes wdt 757 2 2

(1) 3Fhs o 3f=iq e = g sga e Jwom off | wrE & & st Shifaent % forg 3eh
TERH 3 9 |

(2) 3THR I MU ER & SgalH Hi I Fiores T For7 1 Raare v fomam o | Bt &t
39 Rgare @ Fara T on |

(3) 3TheR TG < UISHHH H URadd fohaT, TEeh! Joarsti o ®ieard! Tqg gra i semEn
i off |

(4) A Foid A SSforet 1 BREAT H 311G foham |

frfafea gt & @ frad adyem ‘A o’ Sreeracdt %1 S foRa T o 2
(1) Sl TR & JToaR/T

(2) TrEweaT 1 Aeree-gifaer

(3) WRICTIGE 1 F=7rearT

(4) <hwd dfed 6 e
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52.

53.

54.

55.

“[He] never denyed [his mother] anything but this, that she demanded of him, that
our Bible might be hanged about an asses necke and beaten about the towne of Agra,
for that the Portugals ... tyed [the Quran] about the necke of a dogge and beat the
same dogge about the towns of Ormuz. But he denyed her request saying that, if it
were ill in the Portugals ... it became not a king to requite ill with ill, for that the
contempt of any religion was the contempt of God.”

In the above passage Thomas Coryat is referring to which of the following emperors ?
(1) Humayun (2) AKkbar
(3) Jahangir (4) Shahjahan

Manrique records that the deceased Mughal Prince’s body was taken out from Agra
to Allahabad. During the journey shrines honouring him as a saint were erected but
quickly dismantled under imperial order. Which of the following princes was
Manrique referring to ?

(1) Prince Daniyal

(2) Prince Khusrau

(83) Prince Dara

(4) Prince Sulaiman Shikoh

In the Mughal nobility, Indian Muslims were known as Shaikhzadas. Which of the
following important Shaikhazada clans served the Mughals ?

(i) Sayyids of Barha

(ii) Kambohs

(iii) Afghans

(iv) Afaqis

Choose the correct answer from the code given below :
Code:

(1) (@) and (ii)

(2) (i) and (iv)

(3) (ii) and (iii)

(4) (1), (i1) and (iii)

“Money [was] lent out of the King’s cussena [Khazana/ to umharaes [Umara] when
they are employed in any war to be repaid out of their jaggeeris [jagirs/”.

In the above statement English factors are referring to which of the following
practices prevalent under the Mughals ?

(1) Muhasiba (2) Mutaliba
(8) Talab (4) Talab-i ijnas
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52.

53.

54.

55.

“[3e] e [t ] 1 TRt oft < % fIT SRR e o e e SRl 3@ Wi % fR
BHN F757ec7 %l T4 hl TG H ALHT L IH AR I H dled gL YR S, Riifeh Gt °
[ 1] Fl <l e H Sy o 3H fied g ERS el H YA A1 | Afehd 3T 3! 31 hl
IE HEH T T R L T foh ovR o gamat ® g0 o ... foreht T o forw =g sl 48
7 Toh U3 1 agen qUE & foren S, iifer fopet oft o o1 ST9m™ $¥eR 1 39 7 |7
Swfeh Sfarayl H oine wiftee Fefafaa § & g srewmg 1 aui o @R 2

(1) T (2) 3THR

(3) @R (4) el

T for@d 2 o6 Jd Tl TIHAR 1 IR AT § SAGEG of ST 1 o1 | I3 o6 GRE
TE-SMTE 38 T o & § GHEATHT hid ool qfesl T sHR T3, dfehd Sieg 81 Wl 31ey
TEd 3= dig fean man | Freferfaa & & fora TorpAr & gy § Al Ig forgar 2 2

(1) TSIHHR FHAA

(2) TSTHAR Gell

(3) USHHAN R

(4) TSTHAR GAHH fErehiz

el R et § YR gHeMH SEwel AW 8 S 9 o | Feffed @ | fe wewe
IgITer o9 A et o 1 et o o 2

(i) g d=0g

(i) =g

(iii) STHTH

(iv) STHThI

= fou e e ¥ | T S H g

<< :

(1) () 3R @)

(2) @) 3 ()

(3) (i) 3 (iii)

4) (@), (i) 3R (iii)

“Sa 18 it (3] Foret g W AT ST O O U b @G W 3H SN I AH g e
% &9 H & et oft, A 91e d 37 o Tk F e gar ot |7

3T PFeX IuIH ke | YAl o AefiA e Frafofad § & frm ym w1 avia s @ E 2
(1)  Zerar (2) Farcrar

(3) doa (4) TI9-T 39714
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56. Which of the following pairs is not correctly matched ?
Monument Calligrapher

(1) Ataga Khan’s tomb (Delhi) — Baqgi Muhammad

(2) Buland Darwaza (Fatehpur Sikri) —  Ahmad al-Chishti

(3) Itimad ud Daulah’s tomb (Agra) — Bulaqi Khan

(4) Taj Mahal (Agra) — Amanat Khan

57. Match the architectural terms current in Mughal India given in List I with their
modern connotations given in List I and choose the correct answer from the code
given below :

List I List IT
(Architectural Term) (Modern Connotation)

(a) Aiwan (i)  Awnings

(b) Magqgsura (i1))  Perforated screen

(c) Namgirah (iii) Portico

(d) Shabak (iv) Screen

Code :

(a) (b) (c) (d)

(1) (@v) (iii) (ii) (1)

(2)  (iii) (iv) (i) (ii)

(3) (i) (1) (iv) (iii)

(4) (iii) (1) (iv) (i1)

58. Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : 1t was the general law in the Mughal empire that if any robbery
occurred within the assignment or jurisdiction of a jagirdar or a
faujdar he was obliged to either trace the culprits and recover the
loot or make the restitution himself.

Reason (R): A village which had been once guilty of crime, remained ever
onwards subject to depredation by faujdars/jagirdars.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.
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56. frfeifga o & wi-an 3w odl gafera 787 2 2

Lieg LSICED
(1) 3ram @f 1 Tehay (faeett) —  §Thl ggg
(2) TG AT (FaER Hiendl) —  37gHg 3Fd-feredt
(3) UQHIE 3¢ AT I HhaU (AMW)  — ATl @H
(4) d HEA (W) — 9 @H

57. HHIH ¥ T gra IR § yaferd wumaey geeft weal bl gt 11 H o T 3ok amygfeh o1ef %
a1y gafera e iR = for e e #§ @ T8 W @ g

T 1 T I
(FUTUea-yTSeTaET ) (smeyfes atef)
(a) Qg () st
(b)  FHGT (i) feofga uet
() HfRE (iii) sTwer
d) 5% (iv) uel

<< :
(a) (b) (c) (d)
(1) Gv) (iii) (ii) (i)
(2) Gi)  Gv) 1) (i)
(3) (i) (1) (iv) (iii)
4) Gi) @ (iv) (i)
58. = 1 %A fqu mu §, o & wh 1fiehem (A) ® R gEU % (R) ® | ol 1 afey i =
f2U T e 1 T A T I G |
BT (A) : TR THST | I8 Th T AT o1 Toh oFR FfRelt e storan wioer

FEeT T IS Shdl &1 I 1 IGhT haed o1 fh 98 a1 af Ioreh 1 aa™
3TN 358 ¢ I THH TG H T ITehT &fegfd T L |

7% (R) : TS Td S TH TR AGY KT AN @ G &, 98 ded  BIorerl/TANRGRT 6l
STEfl ST TR BT o |

e :

(1) (A) 3R (R) qHI @& & a1 (R), (A) ! Hal =41 @ |
(2) (A) R (R)TH 88 §, W (R), (A) I H& ==me T4 2 |
(3) (AW g, 7 (R) T & |

(4) (AT, g (R)HEI & |
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59.

60.

61.

62.

Which monument was built by Akbar as a mark of his Gujarat victory ?
(1) Hathi Pol, Agra

(2) Buland Darwaza, Fatehpur Sikri

(3) Shah Burj, Agra

(4) Akbari Darwaza, Agra

When Amir-ul Umara informed about the flight of the Prince from the Agra fort, the
emperor said, “If he will go in no way on the right road, do not consider a crime
anything that results from your action. Kingship regards neither son nor son-in-law.
No one is a relation to a king.”

Identify this royal father-son duo :

(1) Akbar — Salim (2) Jahangir — Khusrau

(83) Shahjahan — Shah Shuja (4) Aurangzeb — Muazzam

Match the technical words related to Mughal paintings/painters/techniques given in
List I with their meanings given in List II and choose the correct answer from the
code given below :

ListI List II
(Paintings/Painters/ (Meaning)
Techniques)
(a) Ambarin Qalam (1) Technique of finishing a painting in black ink
(b) Muraqqa (ii)  Title awarded to calligraphers at the Mughal
court
(¢) Nim Qalam (iii) Technique of finishing paintings, usually in
fine black shading
(d) Siyah Qalam (iv) Album
Code :

(a) (b) (c) (d)
(1) (i) (1) (iv) (iii)
(2) (ii) (iv) (ii) (1)
3) (i) (iv) (1) (iii)
4) (@Gv) (iii) (i) (i)
Which Mughal emperor opined that the structure’s success did not depend on the

building alone, the garden setting, the role of water and the view were also crucial
elements ?

(1) Babur (2) Jahangir
(3) Shahjahan (4) Aurangzeb
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59.

60.

61.

62.

3TheR A T <l fosta vt Tl s W e fore waes ot fmifor femarr o 2
(1) =eft o, AT

(2) TG AT, HAgIR Hewd

(3) WM& S, AT

(4)  3Fherll STETST, SRR

IS T3 IHU 7 AT & fohe! T TSHAR & WIH hl AT & 1 g8 7 al, “3FR 98
foret off wopr @ @& A W A worar ® A1 36 Gy § 3199 g 381¢ Y foRE oft hem Wi
MUY WA T | Ao feret <t off O 1 gmTe TE AT | BiE oft STewg o wet T2 R 1”7
38 Tt fUar-g 1 €l i gg=

(1) 3ThsK — Felm (2) eI - gl

(3) SRl — WM Yl (4) IS - gIrsH

g I H & T8 gt Feaehrl/mehr/ashieh & Tafed dehrieh! weal ol HEt ITH o T 39 o1
% T1Y GHTT HITG TR il fed T e H | HEl I B g

Tt 1 = 11
\CEEICEEANLERI D) (319d)
(a) oI HTH (i) el wmE # fesrerar qithTr 6l T
(b)  ZEFH (i) e GER | GeRgshR <l o T8 3T
(o 77 #eH (iii) HTHTIA: ITHSE TATH BIATHA GRI Teh Rl TSR
1 dehrih
(d) @E Faq (iv) TAsH

<< :

(a) (b) (c) (d)
(1) Gi) (1) (iv) (iii)
(2) Gi) () (i) (i)
(3) (i) @iv) (1) (i1i)
(4)  (iv) (iii) (i) (i)

fore et wTewTE % foeR § 3G i Teheral Sheel G W SNHTRG &l B, SuW fomrd, @
&1 iRt M e aitas ot 3Ted wewaqUl e B1d & ?
(1) s (2) R

g

(3) SmESEl (4) N
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63.

64.

65.

66.

He spoke Turkish well, and he remarked, “Notwithstanding that I grew up in
Hindustan, I am not ignorant of Turki speech and writing.” Identify the ruler.

(1) Akbar (2) Jahangir
(3) Muhammad Tughlaq (4) Sher Shah Suri

Which of the following Gurudwaras did Aurangzeb give a grant to ?
(1) Gurudwara of Nankana Sahib

(2) Gurudwara of Patna Sahib

(3) Gurudwara of Guru Ram Das at Dehradun

(4) Golden Temple, Amritsar

With regard to the building construction activities in Gujarat during the Mughal
period, which of the following statements are correct ?

(i) Aurangzeb paid hardly any attention to repair the pre-Mughal buildings in
Ahmedabad.

(ii)) New buildings were constructed on behalf of the Mughal administration by
Muhammad Azam Shah, a governor of Gujarat.

(iii) Also, at this time, Mughal governors, amirs and religious officials erected
religious structures to enhance Mughal presence and at the same time to
immortalize their own names.

(iv) In Gujarat, throughout the Mughal period, most buildings, except those built
by princes and the highest ranking amirs, appear to be products of local

designers.
Choose the correct answer from the code given below :
Code :
(1) (@) and (iv) (2) (b, (iid) and (iv)
(3) (ii) and (iii) (4) (1), ({1) and (iii)

Which of the following statements are correct about Virji Vora ?

(i) In 1642 Virji Vora monopolised the coral trade with the help of the Mughal
governor.

(ii)) The English factors knew that Virji Vora was the ‘most injurious man’ for their
trade.

(iii) British used proxy of Virji Vora to purchase goods from their competitors, thus
Vora allowed British to use his goodwill.

(iv) Virji Vora started his career as a wholesale trader.

Choose the correct answer from the code given below :

Code :
(1) (1), 1) and (1ii) (2) (1), (iii) and (v)
(3) (1) and (v) (4) (), (i1), (iii) and (iv)
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63.

64.

65.

66.

g qohi =S| ST o, IR I8 Hal, Tk Sasg b § ogeam | ga-ser, § qehl ared
3R foree | fm 181 € 17 e 1 Ffed i

(1) 3P (2) WEIR

(3) HgHg qeTh (4) wwmE gl

frfrfiad 3 & Frg ToER F1 AT 3 SER e 2
(1) TEgRI T aifes

(2) TEGNI YT A

(3) TEUEH 1 T6 TH g Tegml

(4) waof 6, SR

T A o SR ToRrd # We fmfor wfafaften & gew @, fefafaa & @ S99 aw @8t

g7

(i) ITEHeETe H q-giTel Wadl sl Td o fou 3T 3 wig &1 18 e e |

(i) TSN % T HEHIG TISM M8 G TS SRITEA hi 3TR & 3 Wad e T3 9 |

(iii) s AT g eI, SR TR enfies SRR 3 gue Iufeafa @ sem M Ty &
3194 T < 3R K & fow anfifss g off w8 fohu |

(iv) ToRId § R G e H TAPAN R Fqatea Joff o R g1 SHam T HaHi ol Big
ATERTST o T SRR (TYHRT) gRT S T |

= fou MU e § @ T IW H AT

<< :

(1) (@) 3 (Qv) (2) (i), (iii) 3 ({v)
(8) (i) 3R (iii) (4) (@), (i) 3R (iii)

el 9/ & gey § frefafad awedt § 4 #H-9 @gt B 2
(i) S 9 T 1642 H el TER S TR ¥ Y SR W UhIRehR Trfua foRa |
(i) IS Haet I§ T o foh SRS T I =AMR 6 U STt Jwames e o |

(iii) TS 9 39 giagfe & ua @led H ofits 9 i arg o1 wieT ®9 4 J30T TR, 39
PR AT H U I T TG 1 TN A i A TGH |

(iv) I IR0 3 79 a6l JEATT Th o AR o €9 5§ 6T off |

= fou e e ¥ | T S H g

<< :

(1) @), (i) 3R (ii) (2) (D), (iii) 3 (iv)

(3) (i) 3R (iv) 4) @), (D), (i) 3R (iv)

3-o0618 IINIMMIANNINNURBAN AR 33 Paper I



67.

68.

69.

Aurangzeb abolished approximately sixty abwabs (illegal exactions). Which of the
following abwabs were abolished by Aurangzeb ?

(i) Imposts on the Hindus on bathings in the Ganges.
(i1) Imposts on Hindu fairs and festivals.

(i1i) Fees exacted on the sale and transfer of properties.
(iv) Tolls at burial grounds and burning ghats.

Choose the correct answer from the code given below :
Code :

(1) (@), (i1) and (iii)

(2) (1), (ii1) and (iv)

(3) (i), (ii1) and (iv)

4) (), (i), (iii) and (iv)

Given below are two statements one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : The Maratha Confederacy disintegrated because it increasingly
adopted the Mughal feudatory system.

Reason (R):  The Marathas successfully stepped into the shoes of the decadent
Mughal monarchy.

Code:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

Which one of the following factors was responsible for Dupleix’s failure to achieve his
goals against the English ?

(1) Lack of support from the Indian potentates in Carnatic
(2) Nizam of Hyderabad did not side with the French

(3) French home government did not extend requisite financial and military
support

(4) Dupleix did not have a definite strategy to colonize acquired territories
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67.

68.

69.

e 3w @18 g (At wi) *1 3 o | afafea smerer @ @ SR
TS gy gt fohe w2

(i) Tomgall T T EH W T MY & |

(i) Tegai % "l 3R BRI W A T H |

(iii) Trafa @ Tk M g&ATaRer W form S aTet e |
(iv) hisTEdMI 3R I =el W ot S arett o |
= fou U e ¥ | TE ST A gHC

E T

(1) (), (i) 3 (i)

(2) (), (iii) 3R (iv)

(3) (i), (iii) 3 (iv)

4) (), (i), (iii) 3R (iv)

= @ e fou T E, o @ ue Sifiepe (A) R SR g0 @ (R) B | e 1 afey ofR A=
fau 7T e 1 T B FE IW AT |

BT (A) : TUST T ITUT TS HHRI SAEAT Sl ST o ol foefed g1 mm |

@b (R) : ST 3 YIS G TSIaa T TAH ThSAaTgdeh I s for |
e

(1) (A) 3R (R) aHT w&l & 921 (R), (A) =l Hel AT 7 |

(2) (A) 3R (R) 3 @&l &, T (R), (A) 1 &t =amean 74 2 |

(3) (A)EE g, wg (R)Teid 7 |

4) (A)Td R, g (R) & 2 |

3AUST o foeg T G T ILIAT Wl U L T hl BeAAT o T Fferfga & @ wiA-a
Ik IR o1 ?

(1) T | YR ITehi gRT THLS 1 19T

(2) BeUETg & feme 4 wiEfEt s ey 7@ fe

(3) W T TR 7 Tufed o wa afie dgmdn vty 6 s

(4) T % U gEAT HHISAT hl Ifesiiehter i s FHfeaa Jrsn T8 off
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70.

71.

72.

Chronologically arrange the following treaties concluded by the British with Indian
Princely States :

(i) Treaty of Salbai

(i1) Treaty of Srirangapattanam

(i1i) Treaty of Bassien

(iv) Treaty of Allahabad

Choose the correct answer from the code given below :

Code :
(1) Gv), (@), (1), (ii1) (2) (D, ({id), (iv) (ii)
(3) (i), @v), (1), (ii1) (4) (i), (), (iv), (ii)

Match List I with List IT and choose the correct answer from the code given below :

List I List II
(Land tenure (Persons associated)
settlement)
(a) Ryotwari settlement (i)  Warren Hastings
(b) Mahalwari settlement (ii)) Cornwallis
(¢) Quinquennial settlement (iii) Holt Mackenzie
(d) Permanent settlement (iv) Thomas Munro
Code:
(a) (b) (¢ @
(1) (ii) (1) (i1) (iv)
(2) (i) (1) (iv) (iii)

3)  (iv) (iii) (1) (ii)
4) @ (iv) (ii) (iii)

Arrange chronologically the formation of religious societies by Raja Ram Mohan
Roy.

(i)  Unitarian Committee

(i1) Vedant Society

(i1i) Atmiya Sabha

(iv) Brahmo Samaj

Choose the correct answer from the code given below :

Code :
(1) Gv), (@), (1), (ii1) (2) (i), (@v), (iid), (1)
(3) (ii), (i), (1), (iv) 4) (D), (i), (i), (iv)
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70. WA TSAT 6 T IS g1 61 1 Ffifaa |@ferii st wregsugER safem i
(i) HeTs Y
(i) sfitTagay i afy
(iii) =3 (SEiF) < |@fy
(iv) SATEETG i dfY

= feU 7T e W § TR IH Rl AT

e :

(1) Gv), (1), (1), (iii) (2) (@), (1D, Gv) (ii)
(3) (i), (Av), (1), (ii1) (4) (i), (1), Gv), (i1)

71. T I g 1S |1 gAfad it 3R fu e e § & T& 3T i g

T I = 11
(9-TTea Fegrad) (wrarf-era safh)
(a) WA s<e () and Bfeew
(b) WETETE! S (i) si-aTerE
(c) vl sqraed (iii) Bree Behsll
(d) Tmft s<eE (iv) ofog g
<< :
(@  (b) (c) (d)
(1) (ii) (1) (ii) (iv)
(2) (i) (1) (iv) (iii)

3) Gv) (11i) (1) (i)
4) @) (iv) (i) (iii)
72. TS U Higd T gR1 i enfifes Teenet i SetshAER sFaftea hifu |
() Tt =
(i) oTd st
(iii) AT T
(iv) o 9A
= feu 7T e § | HE W I AT
<< :
(1) Gv), (), (i), (iii) (2)  (ib), (iv), (ii) (1)
(3) (ib), (), (1), (iv) 4) (@), (i), (i), (iv)
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73.

74.

75.

76.

Match List I with List IT and select the correct answer from the code given below :

List I List I1

(Authors) (Their Works)
(a) R.C. Majumdar (i) Eighteen Fifty-Seven
(b) V.D. Savarkar (i1) Civil Disturbances during the British Rule in India
(¢) S.N. Sen (iii) The Indian War of Independence of 1857

(d) S.B. Chaudhuri (iv) The Sepoy Mutiny and the Revolt of 1857

Code :
(a) (b) (o) (d)
(1 (i) 1) (i1) (iv)

(2) (i) (iii) (iv) (i)

3) (Gv) (iii) (1) (ii)

4) (@Gv) (ii) (1) (iii)

Which one of the following mediums was not used by Syed Ahmad Khan for the
moral and cultural enrichment of his community ?

(1) The Scientific Society

(2) The Tahzib-ul Akhlaq

(3) Annual Muhammadan Education Conference

(4) National Muhammadan Association

Who among the following nationalist leaders became the President of the Indian
National Congress ?

(1) A.O.Hume

(2) B.G. Tilak

(83) Bipin Chandra Pal
(4) Dr. Annie Besant

Who among the following was not associated with the ‘Aligarh movement’ ?
(1) Mohsin-ul-Mulk

(2) Wagqar-ul-Mulk

(3) Sayyid Mahmud

(4) Syed Amir Ali
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73.

74.

75.

76.

T T o1 = 11 o &1 gAfera shifve 3Tk = feT T e # & 981 3 &l T

el =i 11
(vEre) (3Rt gEaeh)
(a) ITR.H. ASEER (1) &7 feretgaT
(b) .2l HEER (i) faer ISeed~aa ST 1512%1 &7 37 31597
(c) TA.T. T (iil) 7 $/697 IR 377% Ffev-8~7 37% 1857
(d) wE.s. =Sl (iv) g 1&9ry wgie1 T8 7 Ralee 37% 1857
E T
(a) (b) (c) (d)
(1) Gi) @ (ii) (iv)

(2) (@) (iii) (iv) @)
3)  (iv) (iii) (i) (i)
4) (@Gv) (i1) @) (iii)

I ITEAS Wi g T TS  Afdeh U9 Aihiaeh gadq o fow frefafaa 9 @ forg ameem
1 3T gt e w2

(1) =T wmefits gEmsd
(2) ¢ dgsiie-3d AEATh
(3) TSNS HIGHIEH US[he hihd

(4) JAIA HigEST TAIUIH

fFrefaRaa Tsgard Aatst 8 @S9 9RdT Ui Hid i Teae 5 ?
(1) w7 3|

(2) @sf. foo

(3) WA =g 9@

(4) = T

Fafaiad 4§ S ‘3TeiiTe ITia § Treg g1 o ?
(1) wiERE-3d-ge

(2) THFRIATHF

(3) &g wene

(4) 8Fg IR el
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717.

78.

79.

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
below.

Assertion (A) : The initial, and natural form of expression of patriotism of the
Indian intelligentsia was through literature in the Indian languages.

Reason (R) : The development of patriotic literature also contained certain
ambiguities which tended to foster, more or less at the same time,
national, regional and communal consciousness.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

Who among the following was not an Indian Orientalist ?
(1) Dr. Rajendralal Mitra

(2) Dr. Bhau Daji Lad

(3) B.G. Tilak

(4) Gopal Krishna Gokhale

Match List I with List II and choose the correct answer from the code given below :

List I List I1
(Authors) (Works)
(a) Henry Cotton 1) Allan Octavian Hume : ‘Father of the Indian
National Congress’
(b) Valentine Chirol (i1)  The Bankruptcy of India
(c) William Wedderburn (ii1) India — Old and New
(d) H.M. Hyndman (iv) New India or India in Transition
Code:
(a) (b) (¢ (d)
(1) (i) (i) (iv) (iii)

(2) @Gv) 1) (ii) (iii)
(3) (i) G (iv) (i)
4) (iv) (iii) (i) (ii)
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77. AR 2 o iy e ¥ R @ w aAfimed (A) R TR g0 @ (R) ? | el i ufen o A=
fau T e 1 T W IW AT |

SfYHYT (A) : AR Sifgeh o o g I TEACA, A il AR aRd T
% TIfgcT o HeAw 9 g8 |

7% (R) : vt aTfecT o faom o $© sreusear ot off, S e 36t & a1 T,
St qe |Terties ST ot g adi off |

e :

(1) (A) 3R (R) ST w&l € a2 (R), (A) hi T& =zmen 2 |
(2)  (A) 3R (R) 3 W&l &, g (R), (A) 3 && =3 78 2 |
(3) (A) %l 7, Wrg (R)Terd € |

4) (A)Td R, W (R) &2 |

78. Trfafga # @ 9 vyrdia wr=afae 787 o 2

(1) . Toga =

(2) Si. 9S> e A

(3) i.sf. fao

(4) TR FHT MG

79. g I g 11 % @1y gafad e iR A= fgu 10 e & @ 98t I 1 g

il T I
(GicEd) (Tee)

(a) & Hiea ()  ToTT T A : “BIR 3% § 31397 97T

W"ﬁy&

(b) JcterEA ol (i) 7 JPp o77% ear

(c) faferm Jete (iii) 3767 - 37lce Toe 4

(d) u=.wm. Geiq (iv) =g /e s s 57 zrfomr

e :
(a) (b) (c) (d)

(1) Gi) (1) (iv) (iii)

(2) (i) (1) (i) (iii)

(3) (i) (ii) (iv) (1)
4) (@{v) (ii1) (1) (ii)
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80.

81.

82.

83.

Which one of the following statements regarding British policies in India is not
correct ?

(1) The Imperial and Provincial Legislative Councils being entirely nominated
bodies till 1892, provided statutory powers of discussing budgets and putting
questions.

(2) From the late 1880s onwards, the rise of Congress meant that collaboration at
higher level would have to be sought mainly through successive doses of
Legislative Council reforms.

(3) The Ilbert Bill storm was the most extreme, but by no means an isolated
expression of white racism.

(4) The British racial policies played an important role in preserving the unity of
white businessmen in India against possible Indian competitors.

Which nationalist intellectual levelled serious charges against the Congress in a
series of articles in Indu Prakash in 1893 and commented the following words ?

“I say of the Congress then, this — that its aims are mistaken, and the spirit in which
it proceeds towards accomplishment is not the spirit of sincerity and
whole-heartedness, and the methods it has chosen are not the right methods.”

(1) M.G. Ranade (2) B.G. Tilak
(3) Bipin Chandra Pal (4)  Sri Aurobindo Ghosh

Which social reformer was the first to write an analysis of the problem of
Untouchability, entitled — Bharatiya Ashprushyatecha Prashna (The Question of
Indian Untouchatrility) ?

(1) Jyotiba Phule (2) Chhatrapati Shahu Maharaj
(8) Vitthal Ramji Shinde (4) Dr. Bhimrao R. Ambedkar

Match List I with List II and select the correct answer from the code given below :

List I List II
(Congress President) (The Year of their Presidentship)
(a) Syed Badruddin Tyabji (i) 1896
(b) Rahamatullah Sayani ({i1) 1913
(c) Syed Mahomed Bahadur (i1i) 1887
(d) Abul Kalam Azad (iv) 1923
Code :

(a) (b) (c) (d)
(L G @ (ii) (iv)
(2) Gi) (iii) (iv) (i)
(3) (i)  (iv) i) (ii)
4) Gv) @ (ii) (iii)
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80.

81.

82.

83.

wa ¥ fafew Hifoat & ded 0 fafafaa & sH-a1 gy ot 787 8 2
(1) 1892 e sfifee qen Wi (fafiree) faurh afted off ag & Mifia wemd off o awie
T 98 hH qYT FaTd I8 1 duTiHen 31ferepr Tadt off |

(2) 1880 & 3TV & WIg HIUH & IfIATG I Aot I8 AT fh ITW TR W Tgam hH
JTaIhal g, S faemft aftsgl o IAUR Gar grn & ured foham S gehdt B |

(3) A oA 1 FeH! HaH SIRGR AT, WA a8 foell i @ ¥ wWd TG I 4o
rfireafes & o |

(4) 3 i Teoard) fifewt 7 ara ¥ wufaa v gfagfa @ a=m % faw vaa s
Sl Tehdl ! ST T H HEEqUl et 9T |

fora Tgandt gfgshieh 7 1893 # 37 yorwr # H@lleg &1 § @ fof@ U wiE T R TR
T 3R frferfad st & fewaoft <

“T IE TR F T Tg hEd1 § [ 38h I o 8, 3N W @i A W fow e s @
Ig M og W& B, 98 SHHGR Svel 3R g Tfdegar 7 8, i 3w forw o wgfemi =
T4 g TR B, 3 wghhat wd i § 17

(1) .S TR (2) .S fooes

(3) faftm =g ura (4) it anfeer =

ope TR GUTeh o TEUAH ST h THR W YRAT SEgvga=r Jo7 (AR STeqean
1 I97) 3k o1 faveryor fomn ?

(1) st Fat (2) U WG TERS

(3) forger Tt fire (4) . fiwe IR, T

T I %1 g2 11 % @19 gafad e 3R = fGu 10 e & & 98t I 1 giHw
il T I
(i sreaer) (ST STeTEAAT T TH)

(a) g SEHEM dgeshl (i) 1896

(b) THeATE HIHI (i) 1918

(c) g AIGHE FETGL (iii) 1887

(d) YA HAW ATSG (iv) 1923

e :

(a) (b) (c) (d)
(L G @ (ii) (iv)
(2) Gi) (iii) (iv) @)
(3) (i)  (iv) i) (ii)
4) Gv) @ (ii) (iii)
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84.

85.

86.

87.

88.

From among the following, who was not a spokesman of British imperialism in
India ?

(1) Fitzjames Stephen

(2) Rudyard Kipling

(3) Henry Cotton

(4) W.W. Hunter

Which one of the following elements did not constitute a part of the ‘Drain’ theory
propounded by Dadabhai Naoroji ?

(1) Home charges
(2) Unrequited exports
(83) Guaranteed interest paid to the railway companies

(4) De-industrialization

Who wrote to Lord Cross on February 1, 1886 : “The Congress leaders are more able
and respectable in their individual capacity than as members of a rather hysterical
assembly in which the more violent and silly of their number rule the roost” ?

(1) Lord Dufferin
(2) Lord Reay

(3) Lord Curzon
(4) Lord Harris

Given below are the two statements, one labelled as Assertion (A) and the other
labelled as Reason (R). Read the statements and choose the correct answer using the
code given below.

Assertion (A) : Mahatma Gandhi said : Satyagraha is a direct action and not
passive resistance.

Reason (R): Mahatma Gandhi opined : Satyagraha is a creative force and its
basis is ahinsa (non-violence) and moral persuasion.

Code:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A) is false, but (R) is true.

Which leader of the Home Rule Movement, started the newspapers New India and
Commonweal ?

(1) Lokmanya B.G. Tilak (2) George Arundale
(3) Dr. Annie Besant (4) Jamnadas Dwarkadas
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84.

85.

86.

87.

88.

frafefaa o @ & 9yra ° fefes amrearg &1 ufafafy 757 on 2
(1) Toresor e

(2) wgarg fepufem

(3) = ®ied

(4) Y T, TX

frafafaa wewl 8 @ ST g RS g gfawfea ‘aa-Fesener’ fagra w1 e 787
g7 ?

(1) =R e (B =i )

(2) 3mfaea ot

(3) I KT sl fean T T s

(4) Tz

ATE g Bl 1 BE 1886 1 fohme formar on fob “safmma &9 @ U™ Ja1 ST A AR
TG &; 36 ITEHE H134 1 TGe g hl ol H, Tal 361 b $© @ IR IUd qeei
T g 27

(1) e THA

2) @ fw

(3) M o

(4) e 2@

= 31 e fou e E 5 9w sfirmem (A) R o gET 9% (R) R | el W ufen of i

fau T e 1 TN B FE IR FHT |

S7fFYT (A) : wETeH Tieht 4 et : geawg el wrEfar 8 o ffse ity 7€ 7 |

7% (R) : HETCHT el 1 =R o : HAWE goHTcHeh Wik § q97 Sl AER & 377547
qer e 3 E |

<

(1) (A) 3R (R) qHI &&1 2 91 (R), (A) 1 #& =a1e & |

(2) (A) IR (R)THI H&1 7, WA (R), (A) I H&1 AT T8 2 |

(3) (AW g, 7 (R) T & |

(4) (A)TEA 8, g (R)&ET 8 |

B & eI o foh8 9a1 3 =7 37877 3R FiF7elc7 THHER-UA IE fohT ?
(1) <= stSh. faees (2) S 3%
(3) ©f. U s (4) SEAEE gRehIEH
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89. Who started the Kisan Sabha movement in Bihar in order to mobilise peasant
grievances against the Zamindari attacks on their occupancy rights ?

(D)
(2)
(3)
4)

Mahatma Gandhi

Acharya Narendra Dev
Jayprakash Narayan

Swami Sahajanand Saraswati

90. Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : The word ‘Humanism’ did signify a certain philosophical attitude,

that reduced divine to the human, and was opposed to any sort of
religious dogma and revelation.

Reason (R):  Modern science takes its starting point from the Renaissance, which

put an end to the thousand year reign of ignorance and superstition.

Code:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

91.  Match List I with List II and choose the correct answer from the code given below :

ListI List I1
(Feminists) (Their work)
(a) Millicent Garrett ) Vindication of the Rights of Women
Fawecett
(b) Mary Wollstonecraft (i1)) Women’s suffrage movement
(c) Tarabai Shinde (iii) The High Caste Hindu Woman
(d) Pandita Ramabai (iv)  Stree-Purush Tulana
Code :
(a) (b) (¢ (d)
(1) @i (1) (iv) (iii)
(2) (ii) (iv) (1) (i1)
(3) (ii) (i1) (iv) (1)
4) (@v) (iii) (1) (ii)
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89. ToraMI & oot AfIRRI W SHTe 3TshAY & foeg foram firerrdt <t Ifa = & A | forea
fogr ¥ forem @t STEieH ST fomam 2

(D
(2)
3)
4)

TETeAT Tief)
I g o
STTYRTST TR0
Tl HESHG HTEadl

90. ¥ 3 A fou MU & T | T IR (A) § 3R g8 dh (R) B | A1 I ey 3R A=
fou T e 1 T H FE IW AT |

37T (A) : AHEAEE (FHMATH) g & Th oY JhR o gRIH &1 i 3R1d i o,

M 3IY WA ¥ e T W qHg & TR W o A7 I TRt off yer A
TfHeh HATedT AT Tehed hl I feam mam |

7% (R) : MY T 1 Tea™ fomg TR & 2, S a9 Y § =0 o | I

qe yfagardt s s off |

e

(1) (A) 3R (R)IH |&1 3 72 (R), (A) 1 &8 =& 8 |

(2) (A) R (R) A 88 7, WA (R), (A) I H&1 AR T4 2 |

(3) (A)E& g, 7q (R) T 2 |

(4) (A7 8, g (R) @&l 2 |

91. I Il T 1% a1y Fafea Hifve iR A= fow T e § @ o S = g :

Tt 1 = 11
(Sfterrd) (37 HTEAT)

(a) ficfE Me wige () fa=Eiavm 371% ¢ T5¢d 371% a7

(b) T ScEEHIR (i) gHT GRS gau=e

(c) ams g (iii) 7 &7 #re o5 g7

(d) dfear wEm (iv) &i-g%9 gorr

e :
@ (b (©) (d)

1 G @ (v) (i)

(2) (i) () (i) (i)

(3) (i) (D) iv) @)

4) Gv) (i) (i) (i)
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92. Who, among the following, had the longest tenure as President of the Indian
National Congress during the freedom struggle ?

(1) Jawaharlal Nehru

(2) Sardar Vallabhbhai Patel
(3) Maulana Abul Kalam Azad

(4) Pherozeshah Mehta

93. Which one of the following ministers questioned the creation of the Planning
Commission as an extra-Constitutional body and resigned from the Cabinet on this

issue ?
(1) C.D. Deshmukh

(2) Shyama Prasad Mookerjee

(3) John Mathai
(4) T.T. Krishnamachari

94.  Which one of the following plays was not written by Dinabandhu Mitra ?

(1) Neel Durpan

(2) Nabin Tapaswini
(8) Biye Pagla Buro
(4) Sadabar Ekadasi

95. Match List I with List IT and choose the correct answer from the code given below :

ListI
(Author)
(a) R.J. Moore

(b) H.V. Hodson
(¢) F.G. Hutchins
(d) L. Mosley

Code:

(a) (b) (e)
1 @ (iii) (ii)
(2) Gi)  Gv) @)
3 Gv) G @)

@ G 0 (iv)
3-o0618 IINIMMIANNINNURBAN AR

(i)
(i1)
(iii)

(iv)

(d
(iv)
(1)

(iii)

(iii)

List IT
(Title of the book)

The Illusion of Permanance : British
Imperalism in India

Last days of the British Raj
Endgames of Empire
The Great Divide : Britain, India, Pakistan
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92.

93.

94.

95.

i guy e § fEfafed @ @ fha ardly asda 0w % SIeam w1 galfas aw
R o1 ?

(1) ST J88

(2) WER FeAHWTE T

(3) HIAHT A HeIH TG

(4) TRt Aar

Frafafga abm & 3 fFaa e s (wif #Hiem) & Ted W yve fag e i 39
Tfumat T war 3R 38 g W HEuiee & @ uw g fr 2

(1) .. 2w

(2) Y SEE gEsi

(3) S meTE

(4) <38 FomET

Freafafea § @ sia-ar Tes Sy i g fafea 7287 2 2
(1) 7T gqor

(2) THI7 qeiHT

(3) form goreT [t

(4)  TGTaR ThicH]

Tt 1ot i 11 % a9 gafera hifve i = fqu e e § 9 98t 3w &t g

A1 = 11
(vrEr) NETIEEIRIINED)
(a) SRS, I () g gog 3% WaR-~T : [T riRafersa 57 fear
(b) uwa.t. geEd (i) @ 37 3% § 1612w T
() UH.SH. g (iii) w7/ 3% THrER
(d) ud. wEd (iv) g 72 I3a75e : farde, /e, gifaeard

e :

(a) (b) (c) (d)
1 @ (iii) (ii) (iv)
(2) (ii) (iv) @) (i1)
3) (iv) (ii) (1) (iii)
(4) (i) @) (iv) (iii)
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96. Which one of the following statements regarding imperialism is not true ?

(D)

(2)

3

(4)

In Imperialism, A Study, J.A. Hobson argued that the roots of imperialism
were essentially economic, the result of unequal distribution of the profits of
industrial growth.

As a liberal, Hobson believed that surplus capital and imperialism could be
eliminated only by toppling over the capitalist system.

J.A. Hobson attacked the ‘New Imperialism’ that had emerged in the last
decades of the nineteenth century.

A more radical interpretation was provided by European Marxist thinkers who,
while agreeing with Hobson’s definition of the causes of imperialism, differed
as to how the colonial order would come to an end.

97. Commenting on the Great Economic Depression, who among the following American
Presidents urged his fellow countrymen with the words : ‘All we have to fear is fear
itself” ?

(D
(2)
3)
(4)

Harry Truman
F.D. Roosevelt
Woodrow Wilson

Herbert Hoover

98. From among the following statements regarding ‘mixed economy’, which one is
correct ?

(D

(2)

(3

(4)

The idea of ‘mixed economy’ stands for a balanced economic growth of industry
and agriculture.

Approach of ‘mixed economy’ allocates equal weightage to small scale and large
scale industrialization.

‘Mixed economy’ is one in which individual economic activity is regulated and
restricted, but not entirely controlled by the government.

A ‘mixed economy’ supports commercialization of agriculture and market based
artisanal industry.

99. Who wrote a treatise on political theory entitled — Social Contract, in which he
argued that the ‘General Will’ resided with the people ?

(D
(3)

Thomas Hobbes (2) Jean-Jacques Rousseau
John Locke (4) Voltaire

100. From among the following thinkers, who was not a leading pre-Marxian Socialist ?

(D
(3)

Robert Owen (2) Henry De Saint-Simon
Louis Blanc (4) Denis Diderot
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96.

97.

98.

99.

100.

grTsIaTe & SR § F=fafiga @ 9 iH-a1 oxhey wdt 787 8 ?
(1) 39RFfT=T, 37 &S], T J.U. BieEH $had & foh THSIAE hl s AT &9 § A1 &,
I 3Nenfires foemma o oY o TEHF faaier 1 AT B

(2) U 3IRATE! o &9 H, gleqd 1 AHAT o fob srferoy OSft ot wmmmswrane st dSfiard) gomeft
T = &t guTea foRaT ST Hehd 7 |

(3) SI.U. Fiewd 7 IeAES WA o IAfH I H W o @ A9 HHSIATG hl ST |

(4) Tk foIC 7T o ArRiaTd) et 9 so@ ot Samer Hifess sare Segd I S g %
HER % TeY H glodd hl GNATT ¥ 1 HgHd o, Wk 39 fog W 37gwad o T 34
TafTafiTes soaeen 1 @re Y g |

wEH, e wét W feeaft e gu, Frefafaa smeht aegufost § & fohem o1 Swenfet @
wedl & I1wig femar : B fonell @ ST B, B R} wd o0 2

(1) =g

(2) TH.E. &Fdee

(3) g foeem

(4) T TR

‘Tafsra srefeaarer’ & fawg o fF=fcfaq aweat 4 @ w-T1 s @@ ® 2
(1) ‘fufsra srefeawen’ w1 fomm 32 wd HfY &% Tgfera e fawm # auds 2 |

(2) ‘Tufsm srefeyedr $i 3f @Y W T §8g T SN0 i G0H g JgH il
2

(3) ‘fafyra srefewaen’ ag g St dufhe smiidles nfafafy w1 =afee wa ufeifia s 8, g
T T TR g FRIfE e g |

(4) ‘THfya sreicaaeer’ HiY o ATIHIHT! Td SR LG TEAhR! TN hl THIF 7 |

Tfeh fgia @ aia — Fi9re7 Frgae e geash e foret fraw 3aq faafaa foram 2
o5 ‘am=r g=a7 <N % T1Y I HAl 7 ?

(1) omg gleq (2) SH-3Th &4
(3) S (4) dSfed=
fraffga femet & @ S Y@ TeE-qd e 787 o ?

(1) T 3T (2) TR fe Fre-amgmA
(3) I3\ =l ¢4 <hefa
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